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ClientSide = INSIGHT @ onRenderTable
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function nmain(insight) {

var grid = insight.grid;

var rowLen = grid. mainTable.rows.|ength

var rowFi el dSize = grid.rowFi el dList.length

var col umFi el dSi ze = grid. col umFi el dLi st. | engt h;
el dSi ze = grid. neasureFi el dLi st.length

var neasureF

var headSi ze

if (headSi ze
var cel

<

columFi el dSize > 0 ? (neasureFieldSize > 1 ? col umfFi el dSi
rowLen) {
grid. mai nTabl e. rows[ headSi ze] . cel I s[ 0] ;

i nsi ght.grid. doFol dwhol eFi el d(cel |)

ze + 1 :

col umFi el dSi ze)
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